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:(Operations on Sets) Jli/u;.‘.’ 17.1
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E = (j_,liigijl_,;@...} ol
0 ={#143,35,..] 63141 Ol
P :{2,3,5,7,...} &{K)’ﬁb/g"
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q q
R=QuUQ G

~ W EFRHQ, Q, P, O, E,Z, W, N(quiﬁ.’é’ig;/’;l 0%

B b e Zaiwl 38§ sied o2 L Rs RY <
_‘gtﬁlgﬂuf‘jﬁfju’.w:if.:gi;mﬁ’m‘}”t/é‘J"L' <

:(Types of sets and representation of sets) l:/ﬁlgfu;.‘."ﬂlrl,jl Ju;r 17.1 (ii)
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: (Equal Sets) &x(Ssls
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C= ek £ 6 sB={x|xe Nax<6) A={1,2,3,6) /7 .
A#B J¥ A=C Uk
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ACB rE N ugf b5k A2BJ]
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:(Singleton or Unit)2x (361
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(i) B={x|xe NAx <1} .
:(Finite Set ) &x (§il~

et e 3w 15 S (U Ak £ 07 e
(i) A= {10,12,14,..,50} s
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17.1 &
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B= MK}!ﬁ!J/L}{L 11
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(iii) C={0,£1,2,...,240}  (iv) D={-4,-2,0,2,4}
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:(Operations on sets)J}1# ;2 17.1 (iii)
(Intersection) 2 < (Union)(2 HJUi1 <
(Complement) .",.»é{f < (Difference) J/ <

PR

(Union of two sets) (ujj)JLaJIKuW;;
le Y X iu‘ld./Jl/uKAuu"gfat'blf/U::.XuYJLJ!K Y sl X UrE

u?é/uwc.uiu

XuY={x|xe Xvxe Y/} u’J

XUY={1,2,3,4,5} § Y={1,2,3,4) s X={1,3,5} J1 .|

:(Intersection of two sets ) wa Ku;“ Iz

UIn Y s X 2t n JE UK A UF < b fbe XN YEEE Y sl X U5

u’é/‘f’)c

XmY={x|xe XAxe Y} u’.{

XY ={2,6} 7Y={123,6} »X={2468} [ .[I*

:( Difference of two sets) J €y 1
u’;yéyupu‘izyéxiu*'&fugﬂugf‘j}c_wwx yJ}J‘nyJu&f
JQ'.JLAX—YU/C/’U’%}'!Y X = {x|xe Xvxe Y} dc'_t‘//tbuﬂfa x/y :(Jlu*é/
u‘iL//U:(f{L x/y :(Jlu‘é/ db)L y/au*é/ubjc X LS st 6 s

YoX Y-X={y|ye Yrye X} <&
[

Y={2,4,68) L X={468910}
Y-X={2} i X-Y ={9,10} 7
(Complement of aset) Lok Ko

Krd//ul{/!ﬂ/£ U )‘aww..fl Lok KA }’LJU{KU Jdl/(b)ﬂ.fl/
_‘ngﬁwcwg A - A 2

A=U-A U
A'={x|xe Unxe A} &
g

A'={2,4,6,..20) § A={135..19} » U={1,2,3,.,20} ]|
( Symmetric difference of two sets) (3} gﬁ» KU 17.1 (iv)
Uinze bnl Lkl ZBLA putl S e AMB S5 FEL BaiAUs »
_u*a_ru’(f/u"ur’
AAB={x|xe AUBAx¢ ANB}
AAB=(AUB)-(ANB)




AAB ={2,4,7} § B={13,57} . A={12345 i >
ujuf’(d;é(u't,gfd/aguﬁd'pilll(ii)y

:(Disjoint Sets)Zxr&£172 3
ANB=0 s S SR W ers12 8 B s Alr s
Uterelings B={2,4,6) s A={13,5} .[*
:(Over lapping SetS)JVCJJ»l
d/u"u!ulkéu’!/.f/gf/Jlf//lﬁ/u"u;’»/u*gﬂvfwu@/m B sl A &x s
wu_a*"s—c*“/))’ B sl Ay _Lt‘fu“urd{gc/u

BZA | AZB 4 ANB2D S
Urlr b B={2,4,68) L A={1234} op >
:(Exhaustive Sets)wr‘“;/
I e K B AT s LU er sy B ol AJ}}//

L . AuUB=U
rer s EIB sl A Y U={1,2,3,4,5) » B={13,5). A={1,234} J U:»
AUB=U £
(Cells)

T I i b KB sl Adperd LU trFigde F o B sl Ay ]
C_Ju«“)’w}/{'/)’w(f/wli

AUB=U i1 AnNB=CJ sl U*JU{GE/Z:UB 1 A/’/U*A_MJ/ B . A
B AIA AT U={1,23,,100 i B={2,4,6810}, A={1,3,57,9} 7 [

-u*iz.;z’_uyb ﬂfu"”;mfaiw
(Identlty Laws) (/56 Ku“":;d'
LA vru/

(i) Avd=A (i) AuU=U (i) AnU=A (iv) AN =L )
:(Idempotent Laws) ¢J96 6 ££507
Lincers

(i) AUA=A (i) ANA=A

:(Laws of Complement) /56 £ ook

Lincerys
(i) AUA' =U i) ANA =0

i) (A)=A

:(De Morgan’s Laws) U)]G'Z:J//}" 53]
..‘;{»(}:’/A 23] Bé L

(i) (AUB)=A'NB (i) (ANB)=A"UB




(i)
(iv)

(1)

v)
(ix)

(1)
(iif)

(i)

172 &

u!gf:/ﬂ)?.)).gm@/»lc&lﬁdﬁd{éd!&dﬁdjg/ﬂ 1.

{4,6,8,9,10} s {1,23,57} (i)

{1,2,4,8} Ly {1,2,3,6} (i)

U=Z S—> O » E (i

U=WJS2B=N »/A={0,24,.} (iv)

U=R ,J/».) Qx#Q (V)
:erk*i B={2,4,6,8,10} s/ A={1,2,3,4,5,6} A 2

AUB (i BNA (i) A-B
B-A v)  AAB

(ST B={1,3,5,7,9) 51 A={1,2,3,4,5} U=(1,2,3,...10} [I 3.
A’ (i) B (i) A UB (v) A'NB
(AUB) (vi) (ANB) (vii) A'AB’ (viii) (AAB)
A-B (x) A'-B

2l P={p|pe E/\—4<p<6} ,U={x|xe Z/\—4<x<6} /‘7[ 4.
,J/Qf/'/:f.lf'? Q={qlqe Prg<6}
P-Q=PnQ (i1) Q-P=QnP
(PUQ) =P NQ (iv) (PNQ)=PuUQ
Q/r)l”; C={4n|ne N} ] B={3n|ne N}Q A={2n|ne N} Sios
ANB (i) AuC (i) BNC
:(Properties of Union and Intersection) :«&u" J(‘ftﬁz:’d@! 17.1.2(i)

u’").:a}f‘d/zgoyr‘}d).L:%J“;'gu.:»Jcb@/}U@'l/vu;fufg” \

(Commutative Property of Union)J}l/Ml&J(df{)d@'! <
AUB=BUA 4}.& BA’A&.{»UKKJU,?Z@KZ
La&MJJVMGJJGJ!MGd

&
ey

LHS=AUB . e
={x|xe Aorxe B} (gWLE-{J/}JJL’”)
~{xlxeBorve A} (nof PP P Skt er)
“ava G Loy S EJon
~RHS
L.HS=R.H.S
AuUB=BUA

mca:b"u‘/:




:(Commutative Property of Intersection) Jsi» et S 26 <
C"J.d: B . A &{)}L{J/@?Z‘_bﬁ
< Qb et S UGl
LHS=A NB e
={x|xe Aand xe B} (G’/JJ/JCLW)
:{x|xeBandxe A} (d:’u’/‘fr‘;w/d/u%lu"w)
=BnNA (L,/J,g/d/lfu')
=R.H.S

LH.S=R.H.S
ANB=BNnA

l}"bft‘uJ
:(Associative property of union) sk =b §Jui1 <
Lufd}ifWWJUL,’/W’JbJJWIU‘&f
[AC(BUO)=(AUB)UC| L £C B A wr FE S

5
&

N7 4

LHS=AuBuUC(C) -
:{x|xeAt.“.xe BUC} (L}/Jv@/d/duj')
={x|xe AL xe B xe C}
={x|xe AUB Qxe C} (c}/JJ/JJJL}”)

~(AuUB)uC (bt /U

L.HS=R.H.S
AU(BUC)=(AUB)UC
ln.:«:b‘gf:
:(Associative property of intersection)p;ﬁ*wt&&f@ <

/ “ié:Cui B :Aq&f{g{d)éfb;,?gﬁjl;c()&“c«c‘l}urg@d%ﬂ

|Am(BmC)=(Am B)m C|

NI
LHS=AN(BAC) .
={x|xeA 2l xe BmC} (c’-)/d/.-y/d/g@)
:{x|xeA/}l xe B 2 xe C} .
={x|xe ANB »l xe C} (LJ/J%/J&@.)
=(AnB)nC (L}/J%}Jé@')

=R.H.S
L.H.S= R.H.S
ANn(BNC)=(AnB)NnC

!M.w:b"u?
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:(Distributive property of union over intersection) éw LL%LJ‘J) e d/JbJ! <

au(u’;ifwwéwJu/&féwz@fwudﬂww&(
AU(BNC)=(AUB)N(AUC) iicchAJw
o

LHS=AuU(BNC)
={x|xeA L xe BmC} (c'_ud/..é{/.}.d/dwﬂ)
:{x|xeA L (xeB ¢ xe C)} (;,,J_,g/?d/é@)
={x| xeAbxeB) £ (xeAL“,xeC)}

{x|xe AUB ¢ xe AUC} (e S5Jon

~(AUB)N(AUC) (b /S0

=R.H.S
LHS=RHS

AU(BNC)=(AUB)n(AUC)

l}"ut’gf

:(Distributive property of intersection over union) JL}H LL&LUPJ ™ u(cbbv <
c T 6L S BuJ b et SR8 5 & a
An(BUC)=(AnB)U(ANC)| L LCaiBAcrFfES
2;«}?

LH.S=AN(BUC) i
={x|xeA £ X€ BUC} (C‘—HL{%/J&@) \

={x|xe A ¢ (xe B L xe C)} (éﬂd/bé’//urdb”)
={x|(xeA ¢ xeB) L (xe A ¢ xe C)}
={x|xe ANB L xe AmC} (L}/Juy/j‘d/g@)
—(ANB)U(ANC) (e 7 SJo)
=R.H.S

LH.S=R.H.S

AN(BUC)=(ANB)U(ANC)

lnca:t"ue:




:(De Morgan’s Laws) £ 1§ £ /i<

u‘mu*u’éu/md;fu*éwu*(w) 17. l,ﬁﬁf
4J.£B s A ur*»u?éa_.;z‘. Iz

() (AUB)=A'NPB (i) (ANB) = —A'UB'
Dy’

(e §ent)

() (AUB)=A'NPB

AUB)
|xe U ¢ x¢ AUB}

(

={x

{x|er ¢ (x2 A ¢ x&‘B)}
{x|err.x9:‘A)ﬁ(err. erB

={x|xeA’ e xeB} (Lud/bﬂ/’d/u—/‘u/)
=A'NB (c'_uJJ/’d/Cva)

=R.H.S
L.H.S=RH.S

LHS=

(AUB) =A' "B
!ych.b"gﬂ:

(i) (ANB) =A"UB (D s

LHS=(ANB)
={x|er £ xsEAmB} (L}/J...y/?d/é’»:‘:l‘f)

={x|xe Ue¢e (x¢AbLxe B)}

/ :{x|(er £ x¢A) L (xeU ¢ x¢ B)}
={x|xe A’ xe B'} (;uu{b{:}/yd/-"»ﬁf&f)
=A'UB OISt 1e1))

=R.H.S
LHS=RHS

(Am B)' =A'"UB

’ - . . - 7 .e
PR (g 3w S Ut 6o L oy 17.1.2()

:(Verify the fundamental properties of given sets)

J/Lj/v” d/uur‘?u’ﬂ/'c,u Ju;’VJ:;u/u’!

S esb (CE U0 B={4,689,10,12) L A={1234612} J 1 #J&
G/




D626 (L) I b 6 (L)
ANB=BNA U’J AUB=BUA UJ‘J‘
LHS=ANB LHS=AUB
=(1,2,3,4,6,12}1{4,6,8,9,10,12} =(1,2,3,4,6,12}U{4,6,8,9,10,12}
={4,6,12} ={1,2,3,4,6,8,9,10,12}
RHS=BNA RHS=BUA
=(4,6,8,9,10,12} " {1,2,3,4,6,12) =(4,6,8,9,10,12} U{1,2,3,4,6,12)
—={4,6,12} ={1,2,3,4,6,8,9,10,12)
LHS=RHS LHS=RHS
ANnB=BnA AUB=BUA
dnJad G lud 2 4 Je
St et SEEmJB1T C={1357.9) 4B={2357) .A={12510} /]
L/GA
e

ST ETEED

AU(BUC)=(AUB)UC

3

LHS =Ayu(BUC) RHS :(AUB)
={1,2,5,10}U[{2.3,5,7)U{1,3,5,7,9} ] =[{1,2,51000{2,3,5,7} JU{1,3,5,7,9}
={1,2,5,10}U{1,2,3,5,7,9} ={1,2 ,375,7,10} {1,3,5,7,9}
={1,2,3,5,7,9,10} ={1,2,3,5,7,9,10}

LHS=RH.S
A/u(BuC)z(AuB)uC \
Snd 49
SIS A1)
AN(BNC)=(AnB)NC U)‘)' RHS=(ANB)NC

LHS=AN(BNC) =[{1,.2,5.10}{2,3,5.7} ]n{1,3.5,7.9}

={1,2,5100n[{2,3,5,7} ~{1,3,5,7,9} ] :§5i Ffl, 3 5 7.9}

={1,2,5,10}n{3,5,7}
={5}

LHS=RHS

AN(BNC)=(AnB)NC

énQﬁ«fv




U 34T C=

(3,69} 4 B={2,4.6810} . A={123..10} [ 3 ZJ&
C6 sk et § Joi (L)
Juwe&gf”wmfd’wsu)

>
(‘fwku‘u‘“uwud/dw'(.ﬁl)

AU(BNC)=(AUB)n(AUC) (&
LHS=AU(BNC)

={1,2,3,..,10} U[{2,4,6,8,10} ~{3,6,9} |
1,2,3,..,10} U{6}
1,2,3,...,10}

{
{
(AUB)N(AUC)
i
{

R.H.S

{1,2,3,..,10}1{2,4,6,8,10} |~ [{1,2,3,...,10} U{3,6,9} |
1,2,3,..,10}n{1,2,3,...,10}
={1,2,3,...,10}
LH.S=RHS
AU(BNC)=(AUB)N(AUC)
dnad p

Joisth = e (28 (L)
An(BUC)=(AnB)U(ANC) G-
LHS=An(BuUC)
={1,2,3,..,10} " [{2,4,6,8,10} U{3,6,9}]
{1,2,3,..,10}{2,3,4,6,8,9,10}
{2,3,4,6,8,9,10}
RHS=(ANB)uU (Amc)
[{1,2,3,..10} n{2,4,6,8,10} | U[{1,2,3,....10} " {3,6,9} ]
{2,4,6,8 10} {3 6,9}
{2,3,4,6,8,9,10}
LH.S=RHS
AN(BUC)=(ANB)U(ANC)
dnliud A




LB S $5TB={2,4,6,..,20) ot A={1,3,5,..,19) U={1,2,3,...20} [1:4 7 Ji>

(ANB) =A'UB () (AUB) =A'~B ()
:Jes
(AUB) =A'"B ()
LH.S=(AUB)
=U-(AUB)

={1,2.,3,..,20} - [{1,3,5,...19} U{ 2,4,6...,20} |
={1,2,3,..,20} -{1,2,3,..., 20}
=
RHS=A'NB
U-A)n(U-B)
{1,2,3,..,20}-{1,3,5,...,19} | n[{1,2,3....,.20} —{2,4.6....,20} |
2,4,6,..,20§{13,5,...,19}

LHS=RH.S
(AuB)' =A'NnB

dndud s

LHS=(ANB)
U (AnB)
={1,2,3,..,20} -
={1,2,3,...,20}
={1,2,3,...,20}

RHS=A"UB

=(U-A)u(U-B)
=[{1.2.3,..,20}—{1,3,5,...19} ] U[{1,2,3,...,20} —{2,4,6,...,20} ]
={2,4,6,..,20} U{1,3,5,...,19}

={1,2,3,...,20}

LHS=RHS

(ANB) =A'UB’

Sndadm

(AnB) =A'UB (&)

[{13.5,...19}~{2,4,6...,20} |
-

A




=

17.35”
Q:/&J’MJJJVM&J&@A!J@I;L;";{ij;ﬂ 1.
Bz{a,e,i,o,u} £ Az{a,b,c,d,e} 1)
Q={y|ye E+/\ys4} £ P={x|xe Z/\—3<x<3} (ii)
Q/QﬁJ(JWM[&J&@/}!J@Ié&&rd’j,?/ﬂ 2.
C={1,2,5,10} ¢ B={5,10,15,20} .A={1,2,4,5,10,20} (i)
C=Z ¢ A=N,B=P (ii
JS3A 3.

Jb”}lm%u‘/“www/(‘f@(g) CEsk T el S (L)
C={1,3,57,9) » B={23,57} . A={1,2,3,..,10} (i)
C=W u»/ A=N,B="P (ii)
A A={12,3,4,612) U={123..12} [} s S35 5L LS e 4
) B={2,4,6,8]
g[/&f‘c)»d/u;f(é/dj;/ﬂ;uj&rfé U«B /)’A/ﬁ 5.
(i) AU(AnB)=AN(AUB) (i) AUB=AU(A'NB)
(i) B=(ANB)U(A'NB) (ivv B=AU(A'NB), ifAcB
:(Venn Diagram)ﬂf& 50 17.1.3
_‘LCﬁggﬁwu‘ﬂﬁ/”uﬁfwh,wuéwcqfugémguﬁuﬁtz&“f”d%ﬁ
Efb@(bé(]une Venn)u:)u;Zu!;@L/z/ﬁﬁuj:ﬂrl/ﬁglﬁgj:;/é_///;w&/‘“}fu’!
Vil e S5 UL QU S Qe s S Cube U5 1881 1 P
uﬁ/;)r!//dﬂﬁq’ﬁf:uj?d/(/;w}/i{‘Jﬁld}%‘/}!g//l)fg%‘at’lg

L}

SA crtuer v en Sy

v ‘
@ @ IB A A sredizUine o 2601 8bers (G




ZA ‘al,////zw"ijélfd“} (iv) u@/ulﬁ)%p//{w"l/&ﬁ’@; (iii)
BCASB er S Bt A ar

[v
: - (©
:(Use Venn Diagram to represent)(/./, Jl;v“v’iﬂf &Gwcj. L& TS fso0nr 1713
:(Union and Intersection of sets )y 6 s Us s <
:(Complement of a set)y/eirey Ler i <
:(Symmetric difference of two sets)y 3 FEL usrss <
:(Union and Intersection of sets )y & e srss <
-LLV//:U; ﬁﬂi,’l?g B . A/JL;!KB 23l A u}’rnfw(ﬂ/d;sq,c”@/;ﬂleéu;f;}
‘LL“//:U;[ AUBJIWKk (}'f/k/l),:b(i) JQ
_‘at’//gw;"ﬂ&f/”}g B .1 A]é@gB//”A u;.‘.’ufg%
~e w6 AnB Sk 6L LD P

-

o

ANnB
i |

.

A B B
(D HF

ANB s AUB J B={2,4,68} s A={1,2,34,5}, U={1,2,3,.,10} J :1 )i

Q//:W(lféqu;,g/),z;

ANB Il B JWAOF AUB Skl BTNV
i A6 O
nf et oS e InJ et S e
ANB={2,4} AUB={1,2,3,4,5,6,8} i
ANB AUB

E A B ! Tl A B




A :(Complement of a set)u»’uh/..f! <

U /lb:’/.alkﬁwdbb/ T KA e K "!/dbu’;
Stk L/!),./VUJ(I) Jé fLU&ﬁAwg!rgt‘/
-‘LL//:U: :(A'
= //}LJV
Ot A Qe ad A {1,234} 1 U={1,23,...8} /]
A u’/’//:U: A
U _ A B ) S
S L LG eSSBS
2 . ‘LL”//:LE'/A'
U 7 A'={5,6,7,8} i ULslali
(i) '
AAB :(Symmetric difference of two sets)u“/‘f B U s <
U A B ZBslIA J)UKWKB/;IA M}ch_)’“"'/dijcjﬁ
U DF L Sy v 6 Sy
—et/ b AAB St st bt o2
D _Q://zu;rl/difq’);j/]y@ /GIJC"

/ | AAB B={a,b,c} il A={a,c,e}(U={a,b,c,d,e,f}f;
| A B |

A6 Bieps i AN 5 P

e ﬁlﬁ‘jg Lo b a(id) f&ﬂf&ﬁ@f&,;?_v
d f AAB={a,e} -‘Lt‘//zlﬁ/AAB




:(Use Venn diagram to verify) Q/Qﬁrijéljdugd 17.1.3(ii)
:(Commutative property of union and intersection ) _J;L/.:/fl}d/ d’ GalJ <
:( Associative laws) f’“:‘-ff"? <
«(Distributive laws) tf:}d:’; <
:(De Morgan’s laws)dfliégf/rdf <
:(Commutative property of union and intersection )JJ?MGJé@'/}'JL}U’ <
_Q://&."ﬁrl/@b"djq/@cu Ju)@gij;yqué@/,W:uj’T
S G S8 2k e b SEE B=(4,6,8) 1 A={1,2.3,4,5.6) Joi7 - )

AUB=B UA Jsbretb S U1 iz
BUA AUB :
B A Y B

y g

Gi) F O F
= Gi) S /e =) F S e

BUA ={1,2,3,4,5,6,8) AUB={1,2,3,4,5,638}
_‘gﬂu/;uf(ii)ym(i) J{ﬁfl,;.ww/,u,gmLumwwuf/gm,v
AUB=B UA
ANB=BNA J;ywu‘f @ G JL"Z
B NnA ANB
1] A A 1]

g

i) M F
=G F /e EEOWAEVALSS
BNA={4,6) ANB={4,6} )
-‘Lﬂl)/)u:(ii)‘ﬁ'/:!(i) ijfg«fw/.u,uwziuwJu:u:(/gm,,v
dudsds ANB=BNA




AN(BNC)=(ANB)NC iy ZJor iy,
RHS=(ANB)nC LHS=AN(BNC)

ANB BN C
A C A C

(o)

B B
Gii) P G F

(AnB)"N C

B B
Gv) F G f \
= GF S sy = GiD) F S diseys
(AnB)nC={6} AN(BNC)={6}

L e UG 16D B St a0 S o e s o

AN(BNC)=(AnB)NC
Sread A
:(Distributive Laws) (JLL“u.f‘ﬂ;" <
-w@d&d;myﬂdégﬁzﬁd}muﬁliﬂféuﬁq;,gu
A={1,2,3,4,56) JSIAS LI LEE ST S
C={2,4,6,8} £ B={3,4,5,6,7}




Wbz
:(Distributive law of union over intersection) rjl}:‘ujte' d:@b @ L(Ji) ’
AU(BNC)=(AUB)n(AUC)
RH.S=(AUB)N(AUC) LHS=AU(BNC)
AUB BNC

(i)y

(iV)y

(AUB)N(AUC) AU(BN C)

A H

(&)

X

W F (i) f
= W F S i < (iD) F S By
(AUB)N(AUC)={1,2,3,4,5,6} AU(BNC)={1,2,3,4,5,6}

U5 () S i) B Szt 6 St Bt b sl 2
AU(BNC)=(AUB)N(AULC) &
&n&"ﬁ




:(Associative Laws) fIFclld <

cZ Jedionn AL LETFB ST ) $iepsan
Q/QﬁJrM’ufl}Ld’@uU@l?C={5,6,7,8}/Jl B={6,8,10} . A={1,2,3,4,56} /: )&
AU(BUC)=(AUB)UC (Heitr st LJui ¥4

RHS=(AUB)UC LHS=AU(BUC)
BuC

B B
(iv)af’ » i
() Fdp /e S ON AR
(AUB)UC={1,2,3,4,5,6,7,8,10} AU(BUC)={1,2,3,4,5,6,7,8,10}
ujiZLlA/;ui‘ (ii)gfj s (i)Jﬁ S lf:.‘.’u?/.l/.u%léumleu:‘i Ll
AU(BUC)=(AUB)UC
$nJud




:(De Morgan’s Laws) uflfiuérdﬁ <
u:/&fﬁrl/dlﬁd}dz@(fufi}d:cfci‘dﬁc‘_)x JJC’J}';JW‘J:/T
J"/Qﬁﬂjéiﬁd":;j/,@gfuf!}éu’ir‘dﬁ:dk’ff
B={2,4,6,8,10} s A={1,2,3,4,5,6} .U={1,2,3,...10} ]

(AUB) =A'~B (:Jt

RHS=AAB' LH.S=(AUB)
A’ A UB
u B 1] & H
c T o
Gi) F O F
Bl
u A -]

/ KB ‘ (AvB) ‘
) J@ (11)

A'NB'={7,9} (AUB) ={7,9}

P>

E s (V) Jﬁ‘/;i(ii) ﬁf?%u?/,!/,ugﬂémew%{ Lo
(AUB) =A'nB

&n&fﬁ

00




s ey
Distributive law of intersection over union u‘fa) U: (3 (ii;
AN(BUC)=(ANB)U(ANC)
RHS=(ANB)U(ANC) LHS=AN(BUC)

Wk R
N =G F L S
=W P Am(BuC)=q2,3,4,5,6}

(ANB)U(ANC)={2,3,4,5,6}
— VIS U (WD) F G 1 Lo a6 & sl Ste (W

AN(BUC)=(ANB)U(ANC) ?

szﬁ




(ANB) = A" UB' (i) 1

RH.S=A UB LHS=(ANB)
A ANB
v A L L A B
L b 7 9 9
Gi) F* 0 F
B
'} A B
7
() F* ,
A'UB (AnB)
U A 1] U A B
7 9 7
Ol (i) f*
Jer L W S Sy b LG F 1 S
A'UB' ={1,3,5,7,8,9,10} (AnB) =1,3,5,7,8,9,10}

AW PG FF Szt a6 S Sty Lo

(ANB) =A"UB' %

én[}.’.ﬁ

-
¢

o




17445

AABANBAUB j pord LUne (/BaAS -1
St/ Siers £ A-Bus
_gwu{KBJAJ (iii) uyu*’urcj/”’BJ)’A(ll) U’?Jw!iu’)BmA )
A LI 48D et b S E Mo S S si
B={a,e,i,o,u} £ A={a,b,c,d,e} 1)
Q={2,4,6,8,10} ¢ P={1,2,3..10} (i
ﬁq/&ﬁd@ﬂiéu@mjﬁﬂf Qs aik 3.
U={1,2,3,..,10} s/ B={5,6,7,8} A={1,3,5,7,9} [
Ji J/ d,wJ u‘J o u’mlou"u’ u’(l/ RO DS
C={5,7,9,11} »s/B={4,6,7,8,9,10}  A={1,2,3,...,8} /|
:(Ordered pairs and Cartesian products) V/Jlbﬁjﬂﬂgjﬁb‘}‘;’ 17.1.4
ugélﬁ//dzb?‘ d/“fﬂ!d_u}‘agu///uﬂL&/Qﬁ%iul)dm/u’f’/u/ﬂ)ibdf/g
Uiz Tl e & Je 2 L0 606 g5 a2 RS
~¢L/JL—M“IV/J‘(PU';JK
:(Recognize ordered pair) _J2* > 17.1.4 (i)
U-;(/af/ iéb la ;!,wldu.’uu/ Sy Uw(lu’u/-at“lab(/g)lpluﬂg.««/u"ﬁu,?g)ml
Lo tkract(ab)eins 2 Sl b (ab) S tnr 2 Lbslal 2 o o dbs
#U)’[/.'/.J/JLU’/UYL}”/’/G/‘,}?J/"‘})-LL"M/‘Z;LJ//’/})bj}’/‘:ﬁ
& A4(9,y ~6)(x+5,8) Jiz St 8§ v o x: e

(9.y-6)=(x+5,8) ¥ W
= 9=x+5 = y—6=8
= 9-5=x = y=84+6
x=4 | y=14

Jasdes Aed S v x1y)
:(To form Cartesian products) w‘b‘,/‘)"lﬂj* J617.1.4 (ii)
/,:(a,b)(—j}?b.;/““'w}?-%&t?JﬁWLQ/JIbJé’/KLBJA Juperdi /:;))B/}’A /ﬁ
beBulae AUy ujz_ﬂy
Ax B:{(a,b)|ae Al be B} <

<3l L Auie AL buE K ASBL ST
BxA:{(b,a)|be B s ae A}




Q={5.10} s P={1,2,4} [ 1L i
PxQ={(15),(110),(2,5).(2.10),(4,5).(4.10)}
QxP={(5.1),(5.2).(5.4),(10.1),(10,2),(10,4)} !

<t B 1S A”  AxB (i) ed
O(AxB)=mn jO(B)=n .1 O(A)=m J (ii)
AxB=BxA 470 (i)
: (Binary Relations )Lpélﬁ'17.2
J /. .:«51;%( (Range)»Js/(Domain) 3l (5T U,,'/( ol J Lg/(jlf:'
) : (Binary Relations )L,J/Jl’f <
_(LMB,/JL;?BLA‘R&{[}{J[KAXB y/déozww#dl}ﬁ};;&fB/;!A /'7
LZ/()’”;B:{zA} sA={ab,c} [i: )&
UBe Ablsss (a)
A < Bhlugt  (b)
BuLSEL (o)
U:B¢A; ,L.Jlu»(a):di
AxB={(a,2),(a,4).(5,2).(b,4).(c.2).(c.4)} Ulx
R,={(5,2),(c.2).(c:4)} 5IR, ={(a,2),(b,4)} !

wuﬁBLALﬂuuLéI o
VA Bhist 34 (b)
Bx A ={(2,a),(2,0).(2.¢).(4.a).(4.b),(4,c)} Uk

R; ={(4.a).(4.0).(4.c)} # R, ={(2.a)},R, ={(2,a).(2.0)] <+ \
u}u’:Ac_BJ:gluUfJ:( )
J-B L}lu(}t’leg(c)
BxB={(2,2),(2,4),(4.2).(4.4)} U
R, ={(2.2).(2.4)} 1Ry ={(2.4).(4.2)} . R, ={(22)} R, =0
SLUB L}ludl‘f/lg

(Range) sJs! (Domain) 1,3k <

(LR, DomRuEe il 26 2 (Domain):aleR?-uZBq;A&:g@/&L’qu/ S
Uz P LRyl S b= Range S(Range)s§Roc sk (i &t L sz s 2
La.:{KJ//(L:’L/»

R={(1,4),(2,4),(3.5).(3.6)} » B={4,5,6,7} . A={1,2,3,4} | : J&
Range R ={4,5,6} sl Dom R ={1,2,3} J 406 LB A




&Lufuﬁu"N RJzudL«.fl Nulx ye N/ :Jc’
-J/r)l"‘(f(Range) uul/!,alw/;!u‘“”du"yg?!ul/Ri R= {(x y)|x+y= 5}
R={(L4)(23).32. (40} efinn W

Dom R _{1,2,3,4}ut¢
Range R :{1, 2, 3,4} 23
(Function) JE17.3
2 LK =3 0 F6 e oa AT L P P ol LK LIS S
/J&ﬁdl.;{,‘al"ﬁcyfl = Tl'TZUJ’“ ”J!;/AJ}K@/I;/})’LJV LUL’/ Kuuu.vtuwu

£ S glerss
J (Range) 25 151(Co-domain) 71 3 .{ ; (domain) 7/ 51%{ JT s /( <2loy J J’ @(@{@17.3
St

I8 (Range) 133 % 15 6 domain) 3 o 2 U2 e b3 i (Function) FG
< S L1(13),(24).(3.5).(46)] ot Lo boon L L
Z:L;)K/!»L(Range) 11'2‘dcg(domain)jlﬁbfﬁ/guﬁ;di@{(155)’(2’6)’(2’7)’(3’9)} J/L::"

4"_:/311,/»71/ '

:(Function from set A to set B )J@JB&{LA.L{ <
S Be AE 1 FERT e b6 By o Al Rusliterdb & wBulAg S P )
/ A = (domain) /1 3b6R  (5)
2 e fBb=ci(ac) € Raap) € R i e f 3l # LB 2/ s r6ARR (i)
_u‘z_/’//w:,u/)a B, }//)la/;fg hdfu]dt/»td//i
el W 2§ ed Lisbi(ab) € f ol f:A - B urfluyAiBe Ac JE L)
b=t (a) Uy

{(1,2 (2.3).(3.4)} ()
R, ={(1.2).(2:3).(2.4).(3.4).(4.5)} (i)
R, ={(1,2),(2.3).(3.4).(4.5)} (i)




R ={(12).(23)34)} @
DomR, # A f{‘ng’J‘Lﬁ‘Rl
e VWt e S e b e
R, ={(12).(2.3).(2.4).(3.4).(4.5)} (i)
ZBY ‘LQJZV{IK(Domain) }!bef./‘auﬁ;gf@"Rz
‘auj;»jbayVLJ//ugJ/
W S35 e b S e
R,y ={(1,2),(2.3).(3.4).(4.5)} (iii)

E|
A B
»Dom Rz=A fx’./‘aJ‘LﬁR:;
-‘L:{i;JVLJ//ugJ/‘LBdC/"K}"lJl’
-c‘;l“f@u/;uﬁ(lf&lj_fgfbf

(Range) ..5(Co- domain) /1.3 ysb+(Domain) /3 <
Sl ¢aloe KJIB/}lc‘;L"M&,{’M,(Domain)}"lJlPKJlA;f: A-B 4+J€VQ¢B¢A‘M
_‘Lt'l,b;( . /»(Co-domain)
‘L.L{({E:"’V" d/f,(Range) Kb
oy LU 3L e M e FE LT B ASJE
(Range) 1.s/(co domain) Il 3 ¢sbi(domain) 1 Sk
Je L3l
Range R = {x,z}, Co-domain f=b = {x,,z} f .Domf =A ={a,b,c}
f(c)= - f(a) =x skl

-c‘,t'n.‘;ﬂ:‘; §(Co - domain) 1 3 ystJ < [(Range) PAs; ) s
_g.ujuub‘)ldg-é"_t'ﬁydi@/z (i)
Demonstrate the following J”/yu;JJJ,?/,w 17.3 (ii)
:(Into and one-one function (Injective function)) (J@;?U')J@UFUU!’;U’ <
:(Onto function (Surjective function) (J‘@;Q/)J‘Lﬁjuﬂ <
:(One-one and onto function (Bijective function) (J‘@}%épd‘@}'”ww,—u, <




:(Into function) FEJ <
9VMJ@iu; f:A>B 6,2 LBusiacrdy
(Range f B)LL&.{’C‘?*«Q!:KB‘(Range) SN
Lfgl;ug f:A>B Sl Bz{a,b,c}/ﬁlA:{x,y,z}:JC‘f
e FEden =) () (-0) 2 vk
Rangef:{a,b} ul{ﬁ%ﬂu/,ujf’fw Range f — B

:(One-one function) J‘L&jc)}-c)} <
LAVMJ@Uﬁ—Uﬁ f:A—B ‘gcﬁ B/)!A&{»J;’/
e U 2 B 6
Ui £:A—>B SBLnd ZB=(2,3,4) s A={1,2,3}: J&
Be /ﬁKAf{‘LJ‘Lﬁww f={(12).(2.3).(3.4)} uJZ-//fb
e MU S B Mo U 2 il
:(Into and one-one function or injective function )J'@;@u&d‘@u;—u;m;u! <
e bl SO AR U F sl S 2 fE L
U B={23,45) s A={1,2,3}., 0 L
LS E Uy f:ASB
< SEAR UL £={(1,2),(2.3),(3.4))
S Ui £
W Q) oo S e
/ (ii)g}é (1) Jﬁ LL;/flujgg:AaB S
e VIO UG B S8 Mo e F 651 g =((1,3).(2.5).(3.4))
:(Onto function or surjective function ) J‘L;j ",,./.L‘J‘Lﬁjuf <
et bl FE52 A SGITT:A>BIFE 2 L Baiazrds
‘LJ@Jugyu,J/,MLJ@ Range f=B
f:A>BSEB={p,q} s A={ab,c} : J&
£={(ap).(5:9).(e:0)} - bl T 0
WS oS le £:A>B £l FEiuT
J@if’.égw‘@iuu’mu;—u: <

:(One-one and onto function or bijective function)

-c".b'llfrdil&‘;;g?éll&di@jufmUJ—UJoﬁﬁ;f;ufjpﬂﬁ;U)—UJXL)‘@

I




el Thus £ ASB FE B={1,9,25WA={1,3,5) 0 L e
fwuwu, e e SR, £={(11),(3,9),(5.25))
WUt

e P ST S s GiD17 3

:(Examine whether a given relation is a function or not)

s s29 [(domain) 1 3b Ly, 2% LLJ‘WL};U’B;L T L0 Soale
AL otie Lt u/gfwmc_a,wﬁu( 3/¥(domain)i zv./)

-c.u“d"wau,,
e Sl S/ ,Lég_g@u:rl/ JlﬁJ}:/ P B Al F S S fouz i
(i) (i} (i) —e Uil
Ry P".‘ R,
B 5 B

_+u57 j&i/“4”d(/£(domain) 130 £l +u57 JSER,

Ut “37 L (domain) F1.36 6o = oF FER,

e /)L}/‘Jﬂ/ﬁ(domaln)ﬂﬂf/c;‘fw R,
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[3(0)+4(6) 3( 1)+4(7)

[0+12 -1+14 (12 13
Cl0+24 3428
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222225 | 2235 4 24.9523 0.3493 1.3972
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